
Solution: __________ Solution: __________ Solution: __________ 

Solution: __________ Solution: __________ Solution: __________ 

Solution: __________ Solution: __________ Solution: __________ 

Solving Systems of Linear Equations by Graphing   Name: __________________________ 

1) 𝑦 = 𝑥 + 1    2) −3𝑥 + 3𝑦 = −3   3) 𝑦 = −1 

      −6𝑥 + 2𝑦 = 6       𝑦 = 2𝑥 + 2         𝑦 = 2𝑥 − 3 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

4) 2𝑥 + 4𝑦 = 12   5)  𝑦 = −
1

2
𝑥 − 2   6) 3𝑥 − 6𝑦 = −12 

     𝑦 = −
1

2
𝑥 + 3      𝑦 = −

3

2
𝑥 + 2         𝑦 =

1

2
𝑥 − 3 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

7) 10𝑥 − 5𝑦 = 20   8)  𝑥 + 𝑦 = 3    9) 2𝑥 + 𝑦 = −4 

     3𝑥 − 6𝑦 = −12         𝑦 =
4

3
𝑥 − 4        𝑦 = 2𝑥 + 8 

 

 

 

 

 

 


